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Q 1 Frofafed § 3 19 91 Tee gfefT 82

(A) =TT (B) STardiid
(C) §rae (D) sATd
Q.2 T & yafgamr

(A) AfeH

g

(B) 994

Q 3 fafefed & @ g o gg 82
(A) Tg T BT HY 3T g
(C) 31t 7T BT I8 T &

Q 4 A A Iddt @ 9l o
(A) FrHT

fopa fa=iwor g—
(B) Iaal

Q 5 '@HUA § B I 999 g7
(A) g8
(C) 3fgdiHId

Q 6 Fufied & ¥ S g 'R’ BT yafgarE T8l 87

(C) dad (D) TH

(B) Tg 3t M BT B |
(D) Tg T T 3 o g

(C) o D)®

(B) g2y
(D) e

(A) ™ (B) T&

() frera (D) Fdpaa
Q7 'S STA HeTaR &I 37 §

(A) TTeT g1 (B) ST 3CHHI

(C) S U (D) idl ad SHH &
Q 8 'WIdarE® U3l ' & Sidld 3Md §

(A) fe=mg snfe (B) ugl-ueft anfe

(C) 3myuor 3irfe (D) UI-31 3f1fe
Q 9 GG H B JAN &7

(A) Sgdife (B) &%

(C) Iy (D) FHYRY
Q 10 3f-a0T &7 W fawse g

(A) 3 + Q0T (B) 3 + umw (C) 3 + Tuur (D) 3 + Tl



Q 11 Select the correct active form of the given sentence.
Was your bag left in the bus?

(A) Did you left your bag in the bus? (B) Did you leave your bag in the bus?
(C) Have you left your bag in the bus? (D) Was you leaving your bag in the bus?

Q 12 Select the correct active form of the given sentence.
All his faults were forgiven by her.

(A) She forgave all his faults. (B) She has forgiven all his faults.
(C) She will forgive all his faults (D) She is forgiving all his faults.

Q. 13 Select the most appropriate one-word substitution for the given words.
A close-fitting cover for a sword

(A) Shank (B) Sheath
(©) Quiver (D) Dagger

Q 14 Select the most appropriate one-word substitution for the given words.
A partner in crime

(A) Alibi (B) Amateur
(C) Agent (D) Accomplice
Q 15 Select the most appropriate synonym of the given word.
EFFICIENCY
(A) Disability (B) Fluency
(C) Tendency (D) Capability
Q 16 Select the most appropriate option to fill in the blank.____ you mind lending me your book for a day?
(A) Would (B) Need
(C) May (D) Could

Q 17 Select the most appropriate synonym of the given word. "Clandestine"
(A) Open (B) Hidden
(C) Public (D) Visible
Q 18 Choose the correctly spelt word.
(A) Maneouvrable (B) Manoeuvrrable
(C) Manoeuvrable (D) Manouverable
Q 19 Select the antonym of the given word. "COMIC”
(A) amusing (B) absurd
(C) awkward (D) tragic
Q 20 Q: Trustin God ... do the right?
(A) And (B) Or

Q) Yet (D) But



Q21. g1 g A fgex o1 WL o Frgaa foran mar 872

(A) oI St ( B) TR 3RITd

(C) foiia srama (D) 9T TSal

Q 22. T U= & TRIHAl § ?

(A) ITSTY S HIgA g1 (B) feHd forar a=rwm
() i HAR (D) fRrarTe g T
Q23. =9 & Ayufd

(A) =t foftT (B) N1 fasiat
(C) 3R 3fed (D) TfGHR gferA

Q24. WIfed & Tod REHR Sha- aTet Igd URA DI 2
(A) =Y AR (B) SfpH T Tresi
(C) Ui (D) 3R, AR

Q. 25. Farad faswey . SIfd: fawry - snfdh el 2
(A) TyUT (B) Wg
(C) 3BT (D) IR e

Q. 26. fawTo] faxT: IR - Teard: ?
(A) 3rteT (B) HTHT
(C) Uepfd (D) FHTST

Q27. 3 A TR -
(A) BT (B) Riferepit
(C) SHieRftorH (D) s

Q 28. fafead uy | faeddl & U A sl &1 T
(A) freres: frem (B) TER: &
(C) fa=ITetl: FTHg (D) SIeR: B

Q. 29 T IR Tol: AT §=7 : TS - ?
(A) T gH (B) ST
(ORIES (D) Ut

Q30K 3MRLHESEI M 3R N TS gl KPBTseT N BT
WS g1 L, M 3 g UeR defdd g2

(A) foafm (B) HTE

(C) TTeT ELEI

21. Who has recently been appointed CEO of Twitter?
(A) Jack Dorsey (B) Parag Agarwal
(C) Vineet Agarwal (D) Satya Nadella

Q 22. Who is the Chief Minister of Madhya Pradesh?
(A) YS Jagan Mohan Reddy
(B) Himanta Biswa Sarma

(D) Shivraj Singh Chouhan

(C) Nitish Kumar

Q. 23 President of Russia
(A) Xi Jinping
(C) Arif Alvi

(B) Joko Widodo
(D) Vladimir Putin

Q.24 Who was the first Indian to win the Nobel
Prize in Literature?

(A) Rabindranath Tagore

(B) Bankim Chandra Chatterjee
(D) RKK. Narayan

(C) Premchand

Q. 25. Choose the best option. Darwin: Evolution ::
Archimedes: ?
(A) Friction

(C) Buoyancy

(B) Lubrication
(D) Liquid substance

Q. 26. Virology: Virus :: Meaning: ?
(A) Amoeba (B) Language
(C) Nature (D) Society

Q. 27. What is different from these -
(A) Carbon (B) Silicon
(C) Oxygen (D) Arsenic

Q. 28. In the following question, a pair of words as
options. Find the right pair. Apostate: Religion

(A) Teacher: Education (B) Traitor: Country
(C) Powerful: Empire (D) Jailer: Law

Q. 29 Find the correct answer: Mother: Child::
Cloud: ?

(A) Weather (B) Rain

(C) Thunder (D) Water

Q. 30 K and L are brothers. M and N are sisters. K's
son is N's brother. How is L related to M?

(A) Father (B) Brother

(C) Grandfather (D) Uncle



Q 31. feu v yy A gl &y J1d HISTI 18:52 = 12: ?
(A) 34 (B) 48
(C) 60 (D) 72

Q. 32. TH ASH! B 3R IIRT HRd gY, Ia - $gl, "I
A 1Y B THHE YA o1 91 31" AT BT 39 ASH!
J 1 Iy g7

(A) foar (B) §eT
(C) 1T (D) afd
Q 33.1050 = 25 x 51-1942 = ?

(A) 152 (B) 200
(C) 252 (D) 300

Q 34 1.5 {Hdl &1 HH 10 ASHI H IRIER-SRTER dieT
ST 8 | AP ASP ) fhd-T b HQT?

(A) 1500 UTH (B) 10 UTH

(C) 150 | (D) 20 UTH

Q 35. afe Q &1 34 § 'S, J o1 34 § U R, T
BT 3f § "I 3R K &7 31 g "HRT 34T, 30K 2 Q
3J6T5=2

(A) 22 (B) 28

(C) 47 (D) 48

Q 36. T 59 10 foreft Y & 12 e o qa ol 81
e SHD! Tt 25 fobeil/eieT HH HR &l AT, ot FH gt

T B | 30 fbdar 977 (e 7) anm?
(A) 36 (B) 13
(C) 24 (D) 15

Q 37. & ¢ 1000 Hie® 3R 600 Her T &l WewH!
DI HA: 80 VHS 3R 60 s W UR Rl g1 ¢ B
TS fpe 82

(A) 720 HIeR (B) 600 Hiex

(C) 540 #Hex (D) 400 e

Q. 38 3¢ U I ol &I I g

(A) Windows (A)Linux

(C) Yahoo (D) M.S . Word

Q. 39 HIeE Tfde frg W & Fgex I Hafdd g2
(A) Tl digt (B) ¥t i

(C) gt did (D) AR i

Q 40 % fraage fhaa 95e S RER 8Id 87
(A)1050 (B)1000

(€976 (D)1024

Q 31. Find the correct relationship in the given
question. 18:52 :: 12: ?

(A) 34 (B) 48

(©) 60 (D) 72

Q. 32. Pointing to a girl, Chetan said, “She is the
daughter of my grandmother's only child." How is
Chetan related to that girl?

(A) Father (B) Son

(C) Brother (D) Husband

Q33.1050 + 25 x 51-1942 =7
(A) 152 (B) 200
(C) 252 (D) 300

Q 34 A cake of 1.5 kg is divided equally among 10
boys. How much cake will each boy get?

(A) 1500 grams (B) 10 grams

(C) 150 grams (D) 20 grams

Q 35. If Q means 'add’, ) means 'multiply’, T
means 'subtract' and K means 'divide’, then 30 K 2
Q3J6T5=?

(A) 22 (B) 28

(C) 47 (D) 48

Q 36. A bus covers a distance of 10 km in 12
minutes. If its speed is reduced by 25 km/hr, how
much time (in minutes) will it take to cover the
same distance?

(A) 36 (B) 13

(C) 24 (D) 15

Q 37. A train crosses two platforms 1000 m and
600 m long in 80 seconds and 60 seconds
respectively. What is the length of the train?

(A) 720 m (By60OOm (€©)540m  (D)400 m

Q. 38 Internet is an example of a search engine.
(A) Windows (B) Linux
(C) Yahoo (D) M.S. Words

Q. 39 Integrated circuit belongs to which
generation of computers?
(A) First generation
(C) Third generation

(B) Second generation
(D) Fourth generation

Q. 40 One kilobyte is equal to how many bytes?

(A)1050 (B)1000
(@976 (D)1024



Q. 41 Fafarad year & qu We I1d Sifoa?
3,5,5,19,7,41,9,?

(A)71 (B)61

€79 (D)69

Q 42. Fafafad sier w9 § 3 31 3T A1fee?
AABABCABCDABCDEABCD

(A) A (B) E

QcC (D)B

Q 43. A 3R B U% faaied wig &, A G¥Y 9eR g1 D, C
FIIHAT TS, TADTHS S E, DB g8981 B, F
1 95 3, o U S 4G 1 gH1 ¢ E, C ¥ [P TR
Taifdd 87

(A) S8 (B) s

(C) TR 518 (D) HT

Q 44. T [Mf¥d wIe § MONKEY &I XDJMNL ferar
STa1 81 39 hrs | TIGER H forar mar 872

(A) SHFDQ (B) HFDSQ

(C) RSAFD (D) QDFHS

Q 45. 7 AT foug Tmaif BT 3d 53 &1 o DIt
BT T Difore?

(A) 23 (B) 37 (C) 45 (D) 41

Q 46. 330 foF1e @ ga1 160 Hid Iadt 8, 80 Hid Ta &
fpaT 9o TTaT 27

(A) 19145 fiFe (B) 2 ©c 45 fiFe
(C) 2 92 54 fie (D) 2 °¢ 30 fiFe
Q 47. T Y-S J=AT o 17 §gH R 39 J&I &
b & 60 T[T B RIS & oIt &

(A) 15.0 (B) 3.0

(C) 20.0 (D) 9.0

Q 48. 1056 T ®IF Tt FAdH T Siet ST =R,
qIfes ART 23 | guia: faHsy g1 ome?

(A) 2 (B)3

(€) 18 (D) STH A B1E T

Q 49. T IR & TR e At &1 I7a= 6107 60° &
3R ) b1 UTg IR F 4.6 Hiex R 21 Wi B el &
(A) 2.3 (B) 4.6 1t
(C) 7.8 (D) 9.2

Q 50. 2 3feh! B! TP T U Bt § Foraas siapt ot
%A 8 BidT g | o T=T Hf 18 SIST ST &, al i
3IdC OI1d ¢ | B 5

(A) 18 (B) 24

(C) 42 (D) 81

Q 41 Find the missing number in the following
series? 3,5,5,19,7,41,9,7

(A)71 (B)61

Q79 (D)69

Q 42. What should come next in the following alphabetical
order? AABABCABCDABCDEABCD

(A) A (B) E

O C (D) B

Q 43. A and B are a married couple, A is the male
member. D is the only son of C, who is the brother
of A. E is sister of D. B is the daughter-in-law of F,
whose husband is dead. How is E related to C?

(A) Sister (B) Daughter

(C) Cousin (D) Mother

Q 44. In a certain code MONKEY is written as
XDJMNL. How is TIGER written in that code?
(A) SHFDQ (B) HFDSQ
(C) RSAFD (D) QDFHS

Q 45. The average of nine consecutive odd
numbers is 53. Find the smallest number?
(A) 23 (B) 37

(C) 45 (D) 41

Q 46. The wind blows 160 miles in 330 minutes,
how much time does it take to blow 80 miles?

(A) 1 hour 45 minutes (B) 2 hours 45 minutes
(C©) 2 hours 54 minutes (D) 2 hours 30 minutes

Q 47. A positive number which when increased by 17
becomes equal to 60 times the reciprocal of that
number is

(A) 15.0 (B) 3.0 () 20.0 (D) 9.0

Q 48. What minimum number should be added to 1056, so
that the sum becomes completely divisible by 23?

(A) 2 (B)3

(C) 18 (D) None of these

Q 49. The angle of elevation of a ladder resting on
a wall is 60° and the foot of the ladder is 4.6 m
away from the wall. The length of the ladder is:
(A) 23 m (B) 4.6 m

Q) 78m (D)9.2m

Q 50. There is a two digit number whose product
of its digits is 8. When 18 is added to the number,
the digits are reversed. The number is:

(A) 18 (B) 24 (C) 42 (D) 81



Q 51. RO Tfger &1 FafaRad 7§ 4 S ar
ey ATTds | Sigar W4 ol ifafid s o

TS Jo! F1YT ST BT 62
(A) 3T=5¢ 370 (B) TG 371A
(B) TG 245 (D) 3T=5G 256

Q 52. B4 &1 H, ford I WHR 3 ga1 it &t wid=
3 & T "MYUVA AISHT 7S T Ugd Y& &1 87

(A) 5 TS (B) TR U
(OREEIN (D) 3nfE=m

Q 53. I fordlt T BT IS Yol DI 50% HH I fear
WU A1 I8 &1 &AB fdba1 & g1 S?

(A) 75% (B) 50%

(C) 25% (D) 100%

Q 54. & F=AE 7:10 & S3urd H§ § 3R Ife Temaft &1
AT 119 B O TN BT 3R AT BIfTT|

(A7 (B) 21

17 (D) 12

Q 55. 3T FR A G 2, 9, 28, 65, ?

(A) 130 (B) 126

(©) 139 (D) 136

Q 56. RS AUST frg T IS I TR §?
(A) BT (B) Herch Tl

(C) e (D) HTT Thh BT T

Q 57. 5 e i, 2020 &1 @67 T Iw ol Rem
100% T d ATHIGT ST (SHS3MR) U HRAT &

(A) 2025 (B) 2030

(C) 2035 (D) 2040

Q 58. V1024 57 B1V1296 % = x 6.78, x BT AMF J1d
B

(A) 61.74
(C) 61.64

(B) 51.74
(D) 55.74

Q 59. 1.5 forell BT Hb 10 TSH! H SRR -SRTSR FieT
SA1 8| UAS dSdh & fha-T b fHam?

(A) 1500 9= (B) 10 9H

(©) 150 UH (D) 15 9H

Q 60. TfS 1 Mal & AT BT ST 1:8 8, A b

¥ & BT U &:
(A)1:2 (B)1:4
G1:8 (D)1:16

Q 51. Which of the following provisions of the
Indian Constitution poses a major obstacle to
regulating coal mining in Nagaland?

(A) Article 370 (B) Article 371A
(C) Article 245 (D) Article 256

Q 52. Recently, which state government has launched
an initiative called 'MYUVA Scheme' to support young
(A) Madhya Pradesh (B) Uttar Pradesh

(C) Bihar (D) Odisha

Q 53. If each side of a cube is reduced by 50%,
then how much will the surface area be reduced?
(A) 75% (B) 50%

(C) 25% (D) 100%

Q 54. Two numbers are in the ratio 7:10 and if the sum
of the numbers is 119 then find the difference of the
numbers.

(A7 (B) 21 < 17 (D) 12

Q 55. What is the next number 2, 9, 28, 65,  ?
(A) 130 (B) 126
(©) 139 (D) 136

Q 56. 'Neeraj Chopra' is related to which sporting event?
(A) Wrestling (B) Boxing
(C) Shooting (D) Javelin throwing game

Q 57. The New Education Policy, 2020 aims to achieve
100% Gross Enrollment Ratio (GER) in school education

by the year
(A) 2025 (B) 2030
(C) 2035 (D) 2040

Q 58. V1296 % of V1024 57 = x 6.78, find the value
of x.

(A) 61.74
(C) 61.64

(B) 51.74
(D) 55.74

Q 59. A cake of 1.5 kg is divided equally among
10 boys. How much cake will each boy get?

(A) 1500 grams (B) 10 grams

(C) 150 grams (D) 15 grams

Q 60. If the ratio of the volumes of two spheres is
1:8, then the ratio of their surface areas is:
(A)1:2 B)1:4

(€ 1:8 (D)1:16



Q 61. QR PN BT AU 11 : 7 31 ST I I 1 2
(A) 100° (B) 110°
(€ 115° (D) 105°

Q 62. U Afgar MSHTy 3ifIpRY i ofi?
(A) ORI I (B) fopvur 9t
(C) e URTRR (D) ST #R1 IgT IRIHR

Q 63 3alel 7§ S Tl Ugell R Afgd &I 4?
(A) ST TTaddT (B) grita faferawy
(C) b2 T (D) fafv=m e

Q 64. A9 REWR Sfid aTe Ugd HRTG DI 4?
(A) XATEATY TR (B) o T
(C) Sfa=r it (D) B3R 3. ereT

Q 65. HRd Id UM dTeit gt Afge i oi?
(A) Tl HIRIPY (B) Sfery it
(C) ufauT urfed (D) e &1

Q 66. Jat= TraTed & Uy Afgar arandier & di?
(A) oI FAIGR (B) =HI U@
(C) HRT Hife s WifcrH did (D) I e farn

Q 67. 3idRel & IUUE VAT B ard YUH S BT A1H?
(A) HRd (B) =9
(C) Smur (D) AR

Q 68. 3iafve & S a1 YUYW safad ol ATH?
(A) SR g8 TR (GUATHSR) (B) Teta &y
(C) oI =T (D) % Rig 4t

Q 69. Ffed & T Ugel Tad REBR e Siiar?

(A) <1 Bl (B) ereft fage

(C) Je eI (D) ¥ TH.T. 3R Feit Teid (3hi)
Q 70. 2dt &1 AT 99 aTal UH Efad HIF UT?
(A) THRHASR (B) g Rig

(C) TaraT (D) tada™

Q 61. The ratio of supplementary angles is 11 : 7.
Which is the bigger angle?
(A) 100° (B) 110°

(C) 115° (D) 105°

Q 62. Who was the first female IPS officer?
(A) Aparajita Rai (B) Kiran Bedi
(C) Sanjukta Parashar

(D) Dr. Meera Chadha Borwankar

Q 63 Who was the first Indian woman to go to
space?

(A) Kalpana Chawla
(C) Rakesh Sharma

(B) Sunita Williams
(D) Sirisha Bandla

Q 64. Who was the first Indian to win the Nobel Prize?
(A) Rabindranath Tagore (B) Amartya Sen
(©) Indira Gandhi (D) JR.D. Bye

Q 65. Who was the first woman to receive Bharat Ratna?

(A) Lata Mangeshkar (B) Indira Gandhi
(C) Pratibha Patil (D) Mother Teresa

Q 66. Who was the first woman judge in the
Supreme Court?

(A) Sujata Manohar

(C) Meera Sahib Fatima Biwi
(D) Gyan Sudha Mishra

(B) Ruma Pal

Q 67. Name of the first country to launch a
satellite into space?
(A) India
(©) Japan

(B) Russia
(D) America

Q 68. Name of the first person to go to space?
(A) Major Yuri Gagarin (USSR)

(B) Sandeep Snadhu (C) Rajesh Sharma
(D) Mahendra Singh Dhoni

Q 69. Who won the first Nobel Prize for Literature?
(A) Tom Cruise (B) Tommy D'Souza
(C) St. Donald

(D) Rene F.A. and Sully Prudhomme (France)

Q 70. Who was the first person to make a map of the Earth?
(B) Rehana Singh
(D) Pritam Das

(A) Anaxemander
(C) Alexa



Q 71. Ygdr Hautfe Ixne= o  fosar mar o
(A) 1950 (B) 1951
(C) 1952 (D) 1955

Q 72. 349M § YR Roid db & TTa-R B 872
(A) TRISH (B) foHa ST
(@OEIEES] (D) IRfd g

Q 73. YRd HT AU -1 & forg Hfae™ Iu1 &t
RO 69 BT T8 A7
(A) 6 fedeR, 1946

(C) 26 faEsR, 1949

(B) 26 IR, 1949
(D) 10 S, 1946

Q 74. Fufafad & 3 &9 91 gad 921 98 27

(A) ggfd (B) Tk
C) o= (D) 7Y

Q 75. Jedt R e TH HeTEY B a1 R?
(A) TRMET (B) 3hIhT
(C) R (D) aférr emfkesT

Q 76. HRd & b T8 D1 -t BT HERT BT ATdl 872
(A) TSTTS (B) fogR
(C) IR U (D) gfeamomn

Q 77. YRA $T H-41T S STHUH TR HaT fUd 872

A) feeett (B) STAR

(C) Ha™™ (D) TETS

Q 78. UYH YR ATHT ST RITAT g3 AT?

(A) BT GRT (B) &Y

(C) T T gR (D) T Hid g

Q 79. URg AH1Y A#iex B fegq 7y faar?
(A) Higwe faq wiim (B) gea He g
(C) gge Usdh (D) Higwie MY

Q 80. 3 AT B} RITYAT forem fpar ur
(A) TSI IHHEA (B) I Wl gAG
(C) I 3Rfde (D) 3T ¥ HIS Tl

Q 71. The first constitutional amendment was
made in the year
(A) 1950 (B) 1951 (C) 1952 (D) 1955

Q 72. Who is the present Governor of Reserve Bank of India?
(A) Rangarajan (B) Bimal Jalan
(C) Y Reddy (D) Urjit Patel

Q 73. When was the Constituent Assembly
established to make the Constitution of India?

(A) 6 December, 1946 (B) 26 November, 1949
(C) 26 December, 1949 (D) 10 June, 1946

Q 74. Which of the following is the largest planet?
(A) Jupiter (B) Venus
(C) Saturn (D) Uranus

Q 75. Which is the hottest continent on Earth?
(A) Asia (B) Africa
(C) Europe (D) South America

Q 76. Which state of India is called the sugar bowl!?
(A) Punjab (B) Bihar
(C) Uttar Pradesh (D) Haryana

Q 77. Where is the Central Drug Research Institute of
India located?

(A) Delhi (B) Bangalore

(C) Madras (D) Lucknow

Q 78. When was the first Indian empire established?
(A) By Kanishka (B) Harsha

(C) By Samudra Gupta

(D) By Chandragupta Maurya

Q 79. Who destroyed the famous Somnath temple?
(A) Mohammad Bin Qasim (B) Sultan Mahmud
(©) Qutubuddin Aibak (D) Mohammad Ghori

Q 80. Who founded Arya Samaj
(A) Raja Rammohan (B) Rai Swami Dayanand
(C) Saraswati Arvind (D) None of these



Q 81. U& fAf%d %e Ui H, 'PLANNED' &1 'RNCNPGF' &
Y H forar 91T 8 3R 'PROMOTE' &Y 'RTQMQVG' & =0 §
fora STraT 81 39 | # 'IMPROVE' &9 ferar Sam?

(A) KORTQXG (B) KORRQXG

(C) KOQRQXG (D) KORTOXG

Q 82. TH Ffyd W &, CLOCK Mg ®14 - 13- 17 -4 - 12
P U A fora ST 81 37y I HIST H PHONE $9 forgd

(A)17-10-16-15-6 (B)17-9-16-17-6
(€ 17-9-17-15-6 (D)16-9-15-16-5

Q 83. & fAf¥d Fe T &, '"NULLIFY' &1 'MFOLRUB' 3R
'SKYWALK' @1 '"HPBWZOP' ferar ST 81 39 Hre &
'FLAGGER' &9 ferar Smaam?
(A) VOZGTVI

(C) UOZGTVI

(B) UOZHTVI
(D) UOZITVL

Q 84. Hfd T URTF ¢d §Y, IHT A Fgl, "I8 IR uld BT Uadl &
I Bl g8 2" | Iin Hd J fry UpR Fefdd g2
(A) arft @)1 (O A (D) &

Q85. ARBHE S E FHISARIF B UABIEDRTAY
1 TEY B2
(A) HciToit (B) umft (C) §&1 (D) 5t

Q 86. I, T { 40 Hiex <fEur-ufdm & 31 afe smie @™
40 e for-yd A 8, dF sl I 1 b femm A 82
(A) gd (B) uf¥m

(C) SR-gd (D) Efamr

Q 87. W1 3T IR BISIR 4 ol gd ot ok Tt 15| b
I8 ol 3R gl 3R 6 fbet =reht| e a8 arg 8k 4 fopeit =rehh

98 UM fog I farat gr 82
(A) 5 fo. (B) 10 foo. it
(€ 14 fo# (D) 8 f 4t

Q 88. Uw 3TeHT 24 Hiex ufiy ®F 3R 5rar g iR fhr 10
Hiex IR BI 3R w1 81 O YRS fig A 3Tt g 8 -
(A) 17 91 (B) 26 Tt
(C) 28 (D) 34 4t

Q 89. A AABC Us Tufgarg Fiys & s 2C = 90° 3R
AC = 5 g MAB ©:

(A) 5V2 It (B) 2.5 Tt

(C) 5 gt (D) 10 9=

Q 90. FY9 SgY BT AP HTARD IV I §Tgl DIVl B Gl
TAT BT 2 1 A SgYS B Yl Bl TRe B
(A) 5 (B) 7 © 8 D) 6

Q 81. In a certain code language, 'PLANNED' is written as
'RNCNPGF' and 'PROMOTE' is written as 'RTQMQVG'. How
will 'IMPROVE' be written in that language?

(A) KORTQXG (B) KORRQXG

(C) KOQRQXG (D) KORTOXG

Q 82. In a certain language, the word CLOCK is written
as4-13-17-4-12. How will you write PHONE in
the same language
(A)17-10-16-15-6
(Q17-9-17-15-6

(B)17-9-16-17-6
(D)16-9-15-16-5

Q 83. In a certain code language, 'NULLIFY' is written
as 'MFOLRUB' and 'SKYWALK' is written as 'HPBWZOP'.
How will 'FLAGGER' be written in that language?

(A) VOZGTVI (B) UOZHTVI

(C) UOZGTVI (D) UOZITVL

Q 84. Introducing the poet, Veena said, “She is the
sister of my husband's wife's son”. How is Veena related
to the poet?

(A) Aunt (B) Sister

(C) Mother (D) Daughter

Q85. A and B are brothers. E is daughter of F. F is wife
of B. How is E related to A?
(A) Niece
(C) Sister

(B) Sister-in-law
(D) Daughter

Q 86. Ram is 40 meters south-west of Shyam. If Ashok is 40 meters
south-east of Shyam, then in which direction is Ashok of Ram?

(A) East (B) West

(C) North-East (D) South

Q 87. Sonia left her house and went 4 km towards east.
Then she turned left and walked 6 km. Then she walked
4 km towards the right. How far is he from the starting

point?
(A) 5 km (B) 10 km
(©) 14 km (D) 8 km

Q 88. A man goes 24 m west and then 10 m north.
Then his distance from the starting point is —

(A) 17 m (B) 26 m

(C) 28 m (D)34m

Q 89. If AABC is an isosceles triangle with 2C = 90° and
AC = 5cmthen AB is:

(A) 5v2 cm (B) 2.5 cm
(@ 5cm (D) 10 cm

Q 90. Every interior angle of a regular polygon is twice its
exterior angle. Then the number of sides of the polygon is:
(A5 (B) 7 (OF: (D)6



Q 91. . feu 7u fawmenl # ¥ Hefid Wsg &1 7 Be:
fret: A Hdig dier o ?

(A) TFH (B) Af&TH

(O R (D) g B &

Q 92. TP TSI Yl BT 3MYR 9 I B 3R 3T &md
81 aif At 81 3T S F1d FIfoT|

(A) 36 Tt (B) 9 Tt

(C) 27 4t (D) 78 | g Tl
Q 93. TH JAIHR SIMHT ¢ &1 & 3850 T Hiex B
ST 2 @t uRfy w87

(A) 225 Hiex (B) 214 ftex

(C) 220 Hiex (D) 235"R

Q 94. & TS 3pfa & BrySit #Y I F1d i

(A) 32 B8)28 ()9  (D)20

Q 95. 3 7T SHTpfa & Tl 1 TeAT J1d HifoTu|

(A) 12 (8) 13 ©15  (D)20
Q 96. &Y 7T 3nepfa A AYSI o} e J1d HIfvY

(A) 8 (B) 10
() 15 (D) 20

Q 97. 150 SaTST 3 B & forw fpat I Bt
T8 He & T 4% ufd 98 Bt R T YR TSt
& ¥u ¥ fagr S anfgu?
(A) 5000 (B) 7500

(C) 10000 (D) 15000

Q 98. FufifEd us &, 31eR} BT I JHg < TS 18R Faa
T Rad R R $Hd ¥ I A TH R 39 TR HAM?
cecdfdf

(A) dfcec (B) dfece

(C) cfede (D) cdfed

Q 99. I fardt e o} 2 IR H IHaR 8, d I 7
31 ARG B B A1 fa grme

(A) TR (B) &R

(C) AR (D) AR

Q100 .A BHIHES S, B, DB S8Tg, 3R F, A BT fUar
81 B, F A o UobR eifere 87
(A A (B) foraT O §& (D) HTS

Q91.. Select the related word from the given
alternatives: Kidney: Nephron:: Central nervous system:
(A) Cerebrum (B) Brain

(C) Neurons (D) Spinal cord

Q 92. The base of a right angled triangle is 9 cm
and its area is 81 square cm. Find its height.

(A) 36 cm (B)9 cm

(©) 27 cm (D) None of these

Q 93. The area of a circular jogging track is 3850
square meters. What is the circumference of the
jogging track?

(A) 225 m (B) 214 m

(C) 220 m (D) 235 m

Q 94. Find the number of triangles in the given figure.

<>

Q 95. Find the number of squares in the given figure.

(A) 32 (B) 28
@9 (D) 20

(A) 12 (B) 13 (©) 15 (D) 20
Q 96. Find the number of triangles in the given figure.

(A) 8 (B) 10
(©) 15 (D) 20

Q 97. What amount should be given as simple
interest at the rate of 4% per annum for six
months to earn Rs. 150 interest?

(A) 5000 (B) 7500  (C) 10000 (D) 15000

Q 98. In the following question, which group of letters
will complete the given letter series when placed
sequentially at the blank positions? c_e_cd_f d_f

(A) dfcec (B) dfece (C) cfede (D) cdfed

Q 99. If the 2nd of a month is Monday, then which day will
be the 31st of the same month?

(A) Tuesday (B) Saturday  (C) Friday (D) Monday
Q100. A is brother of B, B is sister of D, and F is father of A.
How is B related to F?

(A) Mother (B) Father (C) Daughter (D) Brother



